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SEHETEEESETES: CERED
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ESRSESRS Ry 27,962,606 27,865,263 97,343
= 7,534,096
< 20,428,510
ESRSIPSRS R 27,962,606 27,865,263 97,343
= 7,534,096
< 20,428,510
HAd ML (ME=EX/S) 27,875,276 27,865,263 10,013
= 7,534,096
=) 20,341,180
FEFMIIEYXH 2,965,445 3,927,483 A 962,038
= 542,250
< 2,423,195
HUEMZAEH S} 474,320 775,000 A 300,680
201 L2l 395,000 760,000 A 365,000
01 At 22l 360,000 760,000 A 400,000
Opt=ZHl 355,000
OFUHMALIIEENERAUS 30,000
OFEEMESUNANLBHAFAS 325,000
O=2g8=¢ 5,000
OFUHMAAIR2IZ 5,000
03 #AL2EHI 35,000 0 35,000
pEgodadiazd 35,000
202 O4dl 15,000 15,000 0
01 = LH 4 Hi 15,000 15,000 0
OXEZYMAREZ 15,000
203 YR =2l 4,320 0 4,320
03 A FAH S =AY 4,320 0 4,320
OFAHMABER 4,320
308 MtXIEHMSOIH 60,000 0 60,000
01 HXNHHBHELS 60,000 0 60,000
OHEXNESE0S 2SR A 60,000
SAEEAZLHAN 1,271,125 2,022,483 AT751,358
= 542,250
< 728,875
308 XAHXIEHH SOl A 1,271,125 2,022,483 AT751,358
= 542,250
= 728,875
01 HIXNHHNBMNEES 1,271,125 2,022,483 AT751,358
OZAEEAISTARN 1,271,125
= 542,250
= 728,875
SEANEHANSIHAXNALAEH XA 400,000 500,000 100,000
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308 X EHSOIA 400,000 500,000 A 100,000
11 2 2SO B A RS e A Y 400,000 500,000 100,000
OEEFXNJMMEH2SE 400,000
AMNEEXN S A E D E ALY 320,000 430,000 A 110,000
308 XXM SO0l A 320,000 430,000 A 110,000
112 BSOHEZ AR A 320,000 430,000 ~ 110,000
OSAEEXNAMMDZAL (FUEH) 320,000
HEZHNAE TN AAE 500,000 0 500,000
308 XtXIEHHSOIA 500,000 0 500,000
01 X HHILEES 500,000 0 500,000
OFEELXNAE X EAES 500,000
FEgag2sa 9,902,597 ,835,587 6,067,010
= 3,609,320
< ,293,277
FEN8=2RAIXH 901,000 , 114,000 A213,000
201 Let24d] 10,000 5,000 5,000
01 At 2teltl 10,000 5,000 5,000
Ogst=2tl 10,000
OFEHNGZNEIANZ RS 10,000
308 XtXIEHH SOl A 891,000 , 109,000 A 218,000
01 AXHHILEES 891,000 ,039,000 A 148,000
OM-129diaXNdA(=UEA) 291,000
OgxeldsEI)IZN& 600,000
NEFEHPAS XA 23 240,000 767,000 A 527,000
308 XXM SO0 A 240,000 767,000 A 527,000
01 IXNHHBNEES 240,000 617,000 A 377,000
OZ3=s8usdXtel e XA 240,000
st Tl MEHNR (2 HEEXH) 427,087 514,587 A 87,500
308 XtXIEHHSOIA 427,087 514,587 A 87,500
01 AXHHIYEES 427,087 514,587 A 87,500
Oosrd el e X 427,087
LstsHA R 420,000 670,000 250,000
307 21201 A 420,000 420,000 0
02 IZtE S AIHE L 420,000 420,000 0
BENEEE N 420,000
ZIFYEHNAS DS SN (NG L) 114,000 90,000 24,000
308 X EHSOIA 114,000 90,000 24,000
01 HIXNHHNBMNEELS 114,000 90,000 24,000
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OXINFHEEAHASIUFE X 114,000
MSAHYSEECHS DR (Z2IEERH) 180,000 180,000 0
308 XHXIGH SO0l & 180,000 180,000 0
01 AIKISHHENEXZ 180,000 180,000 0
Oarsrd MY S HE A& 180,000
KNEINHdHEHS UOISANAANG (ZIHRFHXH) 50,000 50,000 0
308 MXISHMSOIA 50,000 50,000 0
11 2SI 2SN USHEANE A 50,000 50,000 0
OXNEISEHES U SANAS 50,000
ZZYHOTHAHUMNF AN LS 200,000 200,000 0
307 212t0| & 200,000 200,000 0
02 DI AAIE E X 200,000 200,000 0
mETEEE R TN TELIE ) 200,000
Z2ZTN0I0IAHIDEE XK (2R E X)) 200,000 200,000 0
308 XHXIEHSOIA 200,000 200,000 0
01 AIKSHHEMNEXZ 200,000 200,000 0
OJZZDN0I0IAHIDEE X 200,000
NEHEAI LU HOIHREZEE L Xl ALY 2,356,000 0 2,356,000
= 1,118,250
& 1,237,750
308 XNXIGHHSO0l& 2,356,000 0 2,356,000
= 1,118,250
& 1,237,750
11 B 2SHUSHEANE AIS Y 2,356,000 0 2,356,000
OXNGHE)LEHOIERSE AL X2 ALY 2,356,000
= 1,118,250
&< 1,237,750
HEXAEZURNAEHAANY 51,260 0 51,260
= 30,920
= 20,340
308 XX SHHSOIH 51,260 0 51,260
= 30,920
o= 20,340
01 AIXSHMEMNEX= 51,260 0 51,260
OJHEAXNIGAEXMINREAAANS 51,260
= 30,920
= 20,340
AHLHEISEONEEH AL AIE 1,075,000 0 1,075,000
= 559,125
& 515,875
308 XX G SO0l & 1,075,000 0 1,075,000
= 559,125
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< 515,875

N 3JN2SHUe3&HAE AR 1,075,000 0 1,075,000
OAALSINHUNEF ISR AHS 1,075,000
= 559,125
< 515,875

CXESMIIFEE LTl ALY 2,150,000 0 2,150,000
= 1,118,250
< 1,031,750

308 XX EHHSOIA 2,150,000 0 2,150,000
= 1,118,250
= 1,031,750

M 3IN2SUHUEE LS A 2,150,000 0 2,150,000
OOXNESEMIISHEE LTl ALY 2,150,000
= 1,118,250
=) 1,031,750

QHHHIHHO XN E St S Xkl K& 460,000 0 460,000
= 223,650
< 236,350

308 AHXIEHHSOIA 460,000 0 460,000
= 223,650
< 236,350

11372 SoHUHSZHEAEALS I 460,000 0 460,000
OSHHHHC XN ES L K2l X & 460,000
= 223,650
< 236,350

CXgnaddagdiiel X 1,078,250 0 1,078,250
= 559,125
) 519,125

308 XXM SOl A 1,078,250 0 1,078,250
= 559,125
=) 519,125

M3 2S00HetE & XS A HI 1,078,250 0 1,078,250
OOXEnddddiiel X 1,078,250
= 559,125
< 519,125

FEE YIS 7,789,065 13,294,193 25,505,128
= 2,293,358
< 5,495,707

FHEHIESEHLNCIEHES 2,829,000 3,879,000 A 1,050,000

201 Let24d] 25,000 25,000 0

01 At 22l 25,000 25,000 0
Opt=2tl 25,000
OFEZENAIIMFTERA 5,000
OFUdI=s=2TZANA 20,000
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307 glz2tol & 500,000 500,000 0
05 RIZtR & = 500,000 500,000 0
O=SRAZIZLNJLE2E 500,000
308 XXM SOIA 2,304,000 3,354,000 A 1,050,000
01 AXHHBILEES 654,000 804,000 A 150,000
OF=dHENUIZGINSHAG(FAUEA) 654,000
11 32SoHUHeSBHEAEALS I 1,650,000 2,550,000 900,000
OZ=s&d4Ceonsts4d XA 900,000
[JEYHCEOM &= 2 K & At 100,000
OFEEAMS 2 A X 2 350,000
LJEECEOS M XI & 200,000
Of*-HAdESHHI A 100,000
UL telmE A 401,250 1,608,793 A 1,207,543
=2 247,500
< 153,750
308 X EHSOIA 401,250 1,608,793 A 1,207,543
= 247,500
< 153,750
01 HIXNHHNBNEES 401,250 1,608,793 A 1,207,543
Odntsgditel=EAd 401,250
= 247,500
< 153,750
FEJlgLRel At 1,063,824 1,838,800 AT74,976
= 575,337
= 488,487
307 glz2+ol & 1,063,824 1,838,800 ANT74,976
= 575,337
< 488,487
02 HAFHAANGFEX 1,063,824 1,838,800 AT74,976
OFEIIHLXel AL 1,063,824
= 575,337
< 488,487
SIS LRl AL 2,437,954 4,955,600 A2,517,646
= 1,285,002
< 1,152,952
308 MtXIEHMSOIH 2,437,954 4,955,600 AN2,517,646
= 1,285,002
< 1,152,952
113J/2SoHUHSIH4EAE ALS HI 2,437,954 4,955,600 A2,517,646
OIS LRhel At 2,437,954
= 1,285,002
=) 1,152,952
1OERIGNAMMH (SIS XA) 50,000 50,000 0
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308 X EHSOIA 50,000 50,000 0
1137/ 2SoHUHSBHEAEALS I 50,000 50,000 0
RIS ME 2 50,000
HFEABES XA ALY 208,000 399,000 A 191,000
308 XXM SO0l A 208,000 399,000 A 191,000
01 IXNHHBNEES 208,000 399,000 A 191,000
OFEAEHESXNA(FUEN) 208,000
ZIEHSMIXNAMS (BHEEXA) 100,000 200,000 2100, 000
307 21201 A 100,000 200,000 100,000
02 ItFAAHE X 100,000 200,000 100,000
O=JIELIINX A 100,000
FABESEIZHIGNE 699,037 0 699,037
= 185,519
< 513,518
308 MXIEHSOIH 699,037 0 699,037
= 185,519
< 513,518
11372 SoHUHSBHEAEALS I 699,037 0 699,037
ORABHESHEEEHIIGXRA 699,037
= 185,519
< 513,518
FEsXdAera 5,792,669 4,803,000 989,669
= 1,014,168
=) 4,778,501
FEENAAL R 10,000 0 10,000
201 Zer24] 10,000 0 10,000
01 At 2t 2l 10,000 0 10,000
Oget==&H| 10,000
OFE=EXNHEAMAI AT SR 10,000
SAYEAANEIZHE 960,000 1,500,000 A 540,000
308 MXIEHMSOIH 960,000 1,500,000 A 540,000
01 HXNHHBHELS 960,000 1,500,000 A 540,000
OSAIGERVEZIZME 960,000
FEHZZNSE=HEXNR 1,400,000 2,000,000 A 600,000
308 XX EHSOIA 1,400,000 2,000,000 A 600,000
1132 SoHUHSZAEEALS I 1,400,000 2,000,000 A 600,000
OEZ2ZNHESIHEXNJ(=YUEN) 1,400,000
DEZHS|LALHE ALY 1,672,669 783,000 889,669
= 1,014,168
< 658,501
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308 X EHSOIA 1,672,669 783,000 889,669
= 1,014,168
< 658,501
113/ 2SoHUHSZHEAEALS I 1,672,669 783,000 889,669
ONSHES LAC eI A Y 1,672,669
= 1,014,168
< 658,501
HFEZ2ZAAH S AL 400,000 400,000 0
308 XXM SO A 400,000 400,000 0
01 AXHHBISEES 400,000 400,000 0
OFEIS XA WS AL (FUEA) 400,000
HEHIZZA=AHEIXE ALY 100,000 120,000 220,000
308 XtXIEHH SOl A 100,000 120,000 220,000
13 2SOHeE & X 2 AL I 100,000 120,000 20,000
OFEIZZXNFHHIXE A 100,000
SIS HLEXNA 250,000 0 250,000
308 A EHHSOIA 250,000 0 250,000
11372 SoHUHSBHEAEALS I 250,000 0 250,000
OHAUMA2H(FUEHA) 250,000
FHMHBS+E 1,000,000 0 1,000,000
308 XX EHH SOl 1,000,000 0 1,000,000
113/ 2SoHUHSZAEEALS I 1,000,000 0 1,000,000
OFEME+<(=2EA) 1,000,000
FHasNaZs 1,425,500 2,005,000 A 579,500
= 75,000
= 1,350,500
FHESYLASKE 128,000 5,000 123,000
201 Let24E] 10,000 5,000 5,000
01 At 22l 10,000 5,000 5,000
pt==Hl 10,000
OEEEsNEIANZ RS 10,000
307 i+l & 18,000 0 18,000
02 It HAHEE 18,000 0 18,000
OFESMeSELHS XA 18,000
402 212t X201 & 100,000 0 100,000
01 212t 2 AL E = (REM ) 100,000 0 100,000
ODFEH=sERSAZTEFANA 100,000
FdHdSmEO28E 1,100,000 2,000,000 900,000
308 MXIEHSOIH 590,000 1,000,000 A 410,000
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